
REVISIONS
REMARKS

1
DD/MM/YYYY

2
3
4 A

6/05/2020 First revision, ENDUROCADD® software v11.00.01
  
  
  

01Outriggers
Installation Drawing

 © BlueScope Steel Ltd

12-14x20-HEX
QTY 2

12-14x20-HEX
QTY 4 per side

Pryda Multigrip or equivalent,
each side of outrigger

12-14x20-HEX
QTY 2 per side

Pryda Multigrip
or equivalent, 
each side of outrigger

M6-1Px18-TEK
or 12-14x20-HEX
QTY 2 per side

12-14x20-HEX
QTY 2

12-14x20-HEX
QTY 4

Boxed C section barge
Boxing screws:
12-14x20 HEX or 
10-16x16 WAFER or 
M6-1Px18 GX TEKS
50mm from each end and 
at 600mm nominal centres

TRUSSTITE
QTY 1

TRUSSTITE
QTY 1

M6x15 GX WALLTITE
QTY 1 each side

M6x18 GX TEK
or 12-14x20-HEX
QTY 1 each side

M6x15 GX WALLTITE
QTY 1 each side

M6x18 GX TEK
or 12-14x20-HEX
QTY 1 each side

Unboxed outrigger

Truss top chord

Outrigger
(boxed or unboxed)

External raking wall top plate 
or truss top chord

Truss top chord

Outrigger
(boxed or unboxed)

U section plate bracket

U section plate

Outrigger
(boxed or unboxed)

Outrigger
(unboxed only)

Check fabrication sheet to see if 
outriggers are boxed or unboxed, 
and which fascia option is used

Splint beams support 
Outriggers at eaves at 
external wall.
Splint beam total length > 
3x eave overhang

Outrigger tiedowns Outrigger fascia options

Plate fascia option

Barge fascia option

Barge and plate
fascia option

Reverse view

Unboxed outrigger to 
truss tiedown

Boxed outrigger to truss 
tiedown (reverse view)

Boxed and unboxed 
outrigger to external 
wall tiedown

Boxing screws
12-14x20 HEX or 
10-16x16 WAFER or 
M6-1Px18 GX TEKS
50mm from each 
end and at centre

Roof battens

90mm unboxed outriggers 
can house roof battens

Roof battens next to
70mm or 75mm 
unboxed outriggers

Roof cladding can be connected 
directly to boxed outriggers

IMPORTANT
Outriggers require a structural barge (or 
fascia) to spread point loads across 
multiple outriggers so that it can 
withstand the weight of somebody 
standing on the edge of the roof. If 
ENDUROFRAME® Building System 
components have not been supplied for 
the barge, a structural fascia must be 
connected to the ends of the outriggers.

Boxed C section barge
Boxing screws:
12-14x20 HEX or 
10-16x16 WAFER or 
M6-1Px18 GX TEKS
50mm from each end and 
at 600mm nominal centres


